@olving Systems of Equations by EliminatioD

Solve each system by using the method of elimination. Write the solution

2X+y=7
X-2y=6
3Xx+2y=-18
13x-2y=-14
4X +2y =14
5x+2y=16
-2X + 7y =3
-“4Xx + 14y =6

as an ordered pair.

X-y=-6
X+y=38
X+2y=4
13x + 2y =28
O9x-2y=16
Ox -2y =-14
3X+4y =52

5x +y=30




@olving Systems of Equations by EIiminatioD

2X+y=7
X-2y=6
(4,21}
3Xx+2y=-18
13x-2y=-14
(_21_6)
4X + 2y =14
5x+2y=16
(2,3)
-2X + 7y =3
“4X + 14y =6

(Infinite Solutions)

Answer.

X-y=-6
X+y=38

(1,7)

X+2y=4
13x + 2y =28

(No Solution)

3X +4y =52
5x +y=30

(4,10)




